source with neat dlagram -~ (06 Marks)
b. Design the circuit in Elngkl (b) to establish a drain, voltage of 0.1V. What is the effective
resistance between, dram and source at this operating point. Let V. = 1V,

50, will be treated as malpractice.

(08 Marks)

2 a. Compare MQSFET and BJT in terms of :

(1) Low ﬁequency hybrid m model
(06 Marks)
tamyexplain working of MOS steering circuits.
(08 Marks)
(06 Marks)

(08 Marks)
(07 Marks)

How does cascade MOS currenf mirror 1mproves the performance of current mirror circuit?
‘ (05 Marks)

4 a. With neat diagrams, explam small signal operation of MOS differential pair. Derive
expression for differential gain. (10 Marks)
b. For circuit in Fig. Q4(b) the differential amplifier uses transistor with B = 100. Evaluate:
(1) Input dlffcrentlal Resistance Rig

(i) Ove

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

11differential gain Yo (neglect effect of ro)
4 sig
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(iif)

(iv)
™)

+1%.
The CMRR in dB.

(10 Marks)
Write short notes on:

a. T-equivalent circuit model of MOSFET ,

b. Multistage amplifiers ) '

c. Source follower %*

d. Current source s/ (20 Marks)
(09 Marks)
(05 Marks)

(06 Marks)

(05 Marks)

(06 Marks)
(08 Marks)

(06 Marks)

K %k sk ok ok
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